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8.(a) (0,5,2) = (=3v3,3,-3),  (p.,0) = (V34, arccos(—3%}), 5%)

(
8.(b) (z,4,2) = (=2,2v/3,1),  (p,,0) = (VIT,arccos(¥), 27)
(_\/57 \/57 _2)7 (pa ®, 9) = (2\/57 3£7 31)

9.(a) (r,0,2) = (5,5,-3),  (p,,0) = (V34 arccos(~3%}), 7)
9.(b) (r,0,2) = (5,3%,11),  (p,,0) = (V146, arccos(11¥148) 31y
9.(c) (r,0,2) = (2,75,-5),  (p,,0) = (v/29, arccos(—5%22), 7T)
9.(d) (r,0,2) = (3,35, —5V3),  (p,p,0) = (3,5§,3%)

10.(a) (z,y,2) = (—73, %, 1), (r,0,2) = (\/5,2%, 1)

10.b) (w,y.2) = (3, —3.—3V3),  (.0,2) = (3,35, -3V3)
)=(3,V3,-2),  (r6,2)=(2v3,§,-2)

11. 2= /22 + 42 (sup. conica)

12. y=xz A 2,y >0 (semi-plano)

13. 22 +9%2=5 (sup. cilindrica)

14. z=r, p=7



